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Ned
. [lpeacraBbTe B BUIAE NPOU3BEAEHUS BbIpAXKEHUE

5 1) 1+cos4P; 3) 1-cos80°;
| Z)I—cosl; 4)1+c096a:

Ne5
I | . [loun3bTe crenenb BhipaXeHus:

1) sin* 3‘ 2) cos’ S5x: 3) sin2(3[3+5°_); 4) cosz((—g- —TF—J.
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~ |, JlokaxxuTe TOXeCTBO:

1) 2cos"(45°-—a) —-sin2a =1:
1 +cos8a

2) | - cos8a

I
- tg2 4a - cos® 4o = sin” 4o

sina+sin%— o
3) o 85
l+cosa+cos-2—
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YopocTuTh BHIpaXKEHHE:

| 1-cos o sin « 1-cos 20 + sin 2«
1) — ; 2) ; 3) . :
» sin o 1+ cos a 1+ cos2a+ sin2q
1+ cos 4a 1+ cos2a+sin2a
4) ; 2) ;

sin 4« sin o + cos a
6) (1-cos 20) ctg a.




Neg
. YIPOCTHTE BbIPAXKECHHE:
1) sin 8 cos4a sin 40

l+cos8a 1+cosd4a |1-cosdo

Ne9
. YIIPOCTUTE BbIPAXKEHUE:

1 ) Sin 700 .
2cos35°”
cOs 4o

2) : ;
cos2a —sin 2
3) cos? (45° + a)—sin*(45° + o) ;

. P,
4) cos? 2a + 4sin® acos” o ;

5) sin9a _ cos9a .
sin3o cos3oa ’




